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(D) FInd fo,fuy, fop for F5,Y) = %9+ = xy3 +y2x~ 5]
- - X
fo=v3-2yx2 = f,=6y"x""
foy =3y —4yx~3

fr=3xy*+2yx? = f,, =6xy+2x7?

for F(x,y,z) =x*yvi+xy*j+ye*k.(2)Find VXF
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(D Find foe, foy, foy fOr f,7) = 2272 +25 —x2y? +y°x7 [6]

fo=2xy*—2y*x3 o= f,=2y"+6y3x*
foy = 4xy — 6y%x73

f=2xy+3y*x7? = f, =2x"+6yx’

for F(x,y,z) =xy*i+x*yj+xe¥*k .(2)Find VXF
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fo =2xy % +3x*y* = f.,.=2y%+6xy?

foy = —4xy2 + 6x°%y

fr="2xy2+2x% = f, =6xy*+2x°

for F(x,y,z) =zsin(xy)i+xv? +xvz?k .(2) Find VXF
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(1) Find fox s oy fyy for fOop)=—5+ w?y? =Py 4+ x%y3 [8]
fo=3x%y 2+ 2xy?* = f,=6xy*+2y?
fey = —6x%y 3 + 6xy?

f, =22y +3x%y? = f, =6xy"*+6x%y

for F(x,y,z) =xsin(yz)i +x*vzj+vyz®k.(2)Find VXF
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= (z% — x*y)i — (—xy cos(vz))j + (2xyz — xz cos(vz))k

= (z% — x*y)i+ xycos(yz) j + (2xyz — xzcos(yz))k



